=
©
= 1.6
o
Z 14
g’
s 1.2
prd
)
|
0.8
0.6
0.4
0.2
2

Ratio to CDF
[N

0.5

1960 GeV ppbar

Underlymg Event

— LN L L | T T T T | |—
| | _
— <Nch> VS p'Tea (b, > 0.5 GeV, h| < 0.8) —
 m CDF _
 --O-- Herwig++ 2.7.1 default T
. --3-- Herwig 7.2.1 default -
¢ Sherpa 2.2.9 default ]
- e ; ’
N T L T o _
— guil W : . e
B E’BEFEF‘E"’G“{TH"" T T o + B
- L D b -
— B - ot T TR N 7
| o _
- " ” ‘E:] —
L [ ‘..0 . ]
L K3 | ]
;e :
e _
¥ _
| | | | |, | Ly | | | | | [ | | [ | |

: T T T T | T T T T | T T T T | T T T T |:
B ‘ Q ] _
B ,\mo-@--@_-é i ' - |
—@@EEBBEH}E 3-- ﬁé ------------ Gl ¢ 7]

¢ ) T SR ¢ N
— ’ ..... T ’ : _
i *’ ..... Y ?, _____ 1;: B
R 3 o |

"’" | | | \E:] |

0 S 10 15 20

(P [GeV])

Rivet 3.1.10, = 2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


